

An Autonomous Institution affiliated to Madurai Kamaraj University ◆ Reaccredited with 'A' Grade by NAAC

VIRUDHUNAGAR - 626 001, TAMIL NADU.

support@vhnsnc.edu.in

4.1.1. Facilities for Cultural and Sports activities, Yoga centre, games (indoor and outdoor), Gymnasium, Auditorium etc.

1. Facilities for Cultural activities

Sl. No.	Name of the Building/ Block	Type of facility	Area (Sq. ft.)	Seating Capacity
1	K.S.S. Nagarajan Building	Conference Hall	1312	120
2	V.V. Ramasamy – V.V.R. Jeyakkar Building	Conference Hall (A/C)	1041	110
3	Idhayam Rajendran Computer Block	Conference Hall	3060	300
4	S.P.G. Chidambara Nadar – C. Nagammal Science Block	Seminar Hall	1500	150
5	Maths. Prof. D. Baskaran Memorial Mathematics Block	Conference Hall	756	75
6	S.P.G. Ramasamy Nadar – Meenakshi Ammal Arts Block	Seminar Hall	1561	160
7	S.P.G. Ramasamy Nadar – Meenakshi Ammal Arts Block	Seminar Hall	1561	160
8	M.S. Ramachandran - Shri Rengammal Building	Conference Hall	1250	120
9	K.C.S. Rathinasamy Nadar - R. Mariammal Memorial Building	Conference Hall (A/C)	1744	175
10	K.C.S. Rathinasamy Nadar - R. Mariammal Memorial Building	Conference Hall	1728	175
11	Controller of Examinations	Conference Hall (A/C)	2500	250
12	M.S.P.K. Periasamy Nadar Library Building	Multimedia hall	2700	275
13	K.P.S.V. Duraisamy Nadar Auditorium	Auditorium	5000	550
14	V.N.R.T. Gurusamy Nadar – Rajammal Multipurpose Gymnasium Hall	Auditorium	23100	3000
15	Orchestra Rehearsal Room	Orchestra room	225	10



An Autonomous Institution affiliated to Madurai Kamaraj University ◆ Reaccredited with 'A' Grade by NAAC

VIRUDHUNAGAR - 626 001, TAMIL NADU.

support@vhnsnc.edu.in

- **4.1.1.** Facilities for Cultural and Sports activities, Yoga centre, games (indoor and outdoor), Gymnasium, Auditorium etc.
 - 2. Facilities for Yoga, Sports and Games (indoor and outdoor)

Sl. No.	Name of the Play Field	Specifications	Number(s) Available
1	Swimming Pool	25.0 m × 2.5 m	1
2	Indoor Stadium with wooden floor –Multi Purpose	890 m ² with 13.72 m height	
2.1	Badminton Court	13.4 m × 6.1 m	4
2.2	Table Tennis Board	$2.7 \text{ m} \times 1.5 \text{ m}$	2
2.3	Chess Board		20
2.4	Carrom		2
3. Multi	purpose Gymnasium (130 m × 90 m)		
3.1	Tennis court Cement	23.7 m × 11.0 m	1
3.2	Yoga Meditation Hall	9.1 m × 10.7 m	1
3.3	Weightlifting Arena	15.2 m × 10.7 m	1
3.4	Players and official Hall	15.2 m × 10.7 m	1
3.5	Vaulting Horse		1
3.6	Pommel Horse		1
3.7	Horizontal Bar		2
3.8	Parallel Bar		2
3.9	Roman Ring		1
4. Athle	tics		
4.1	Standard track	400 m with 8 lanes	1
4.2	Shot put	Throwing Sector	1
4.3	Discus	Throwing Sector	1
4.4	Javelin	Throwing Sector	1
4.5	Hammer	Throwing Sector	1
4.6	Long jump and Triple Jump	Landing Pit	1
4.7	High Jump and Pole vault	Landing Pit	1
4.8	Hurdles		80



An Autonomous Institution affiliated to Madurai Kamaraj University ◆ Reaccredited with 'A' Grade by NAAC

VIRUDHUNAGAR - 626 001, TAMIL NADU. support@vhnsnc.edu.in

Sl. No.	Name of the Play Field	Specifications	Number(s) Available
4.9	01 4	4 kg	5
4.9	Shot put	7.26	5
4.10	Discus	1 kg	5
4.10	Discus	2 kg	5
4.11	Jumping Uprights (High Jump and Pole Vault)		1
4.12	Fibre Pole for Pole vault		1
	Playgrounds/ fiel	ds	
5	Ball badminton court	$24.0 \times 2.0 \text{ m}$	1
6	Basketball Court with Flood Light	$28.0\times15.0~\text{m}$	1
7	Cricket Nets	$7.3 \text{ m} \times 3.0 \text{ m}$	2
8	Cricket Oval with pitch		2
9	Handball court	$40.0 \text{ m} \times 20.0 \text{ m}$	1
10	Netball court	30.5 m × 15.25 m	1
11	Football Field with Posts	100.0 m × 60.0 m	1
12	Hockey Field with Goal Posts	91.4 m × 55.0 m	1
13	Kabaddi Court	13.0 × 10 m	2
14	Kho Kho Field	27.0 × 16.0 m	1
15	Tennis court (Mud)with Iron Fence	23.8 m × 11.0 m	2
16	Volleyball Court with Fence	18.0 m × 9.0 m	2
17	Multi Gym with Modern Equipment and weight Plates and Bars	18.0 m × 9.0 m	1



An Autonomous Institution affiliated to Madurai Kamaraj University ◆ Reaccredited with 'A' Grade by NAAC

VIRUDHUNAGAR - 626 001, TAMIL NADU.

support@vhnsnc.edu.in

- **4.1.1.** Facilities for Cultural and Sports activities, Yoga centre, games (indoor and outdoor), Gymnasium, Auditorium etc.
 - 3. Seminar halls, Conference halls and Auditoria

Sl. No.	Name of the Building/ Block	Name of the Hall/ Department	Type of facility	Dimension (ft)	Area (Sq. ft.)
1	K.S.S. Nagarajan Building	Zoology	Conference Hall	42 × 31 ¼	1312
2	V.V. Ramasamy – V.V.R. Jeyakkar Building	Multimedia Hall	Conference Hall (A/C)	42 ½ × 24 ½	1041
3	Idhayam Rajendran Computer Block	Computer Science	Conference Hall	40 × 35	1400
4	Idhayam Rajendran Computer Block	Kanagamani Hall	Conference Hall	102 × 30	3060
5	S.P.G. Chidambara Nadar – C. Nagammal Science Block	Physics Alumni lecture Hall	Seminar Hall	50 × 30	1500
6	Maths. Prof. D. Baskaran Memorial Mathematics Block	Mathematics	Conference Hall	25 × 30 1/4	756
7	S.P.G. Ramasamy Nadar – Meenakshi Ammal Arts Block	Commerce Alumni Seminar Hall	Seminar Hall	50 ³ / ₄ × 30 ³ / ₄	1561
8	S.P.G. Ramasamy Nadar – Meenakshi Ammal Arts Block	A. Murugan Memorial Hall	Seminar Hall	50 ¾ × 30 ¾	1561
9	M.S. Ramachandran - Shri Rengammal Building	Chemistry	Conference Hall	50 ½ × 24 ¾	1250
10	K.C.S. Rathinasamy Nadar - R. Mariammal Memorial Building	MBA	Conference Hall (A/C)	64 × 27 ½	1744
11	K.C.S. Rathinasamy Nadar - R. Mariammal Memorial Building	MCA	Conference Hall	64 × 27	1728
12	K.C.S. Rathinasamy Nadar - R. Mariammal Memorial Building	MCA	Mini Conference Hall	27 ¼ × 21	572
13	Controller of Examinations		Conference Hall (A/C)	50 × 50	2500
14	M.S.P.K. Periasamy Nadar Library Building	Library	Multimedia hall	90 × 30	2700
15	K.P.S.V. Duraisamy Nadar Auditorium		Auditorium	50 × 100	5000



An Autonomous Institution affiliated to Madurai Kamaraj University ◆ Reaccredited with 'A' Grade by NAAC

VIRUDHUNAGAR - 626 001, TAMIL NADU. support@vhnsnc.edu.in

Sl. No.	Name of the Building/ Block	Name of the Hall/ Department	Type of facility	Dimension (ft)	Area (Sq. ft.)
16	V.N.R.T. Gurusamy Nadar – Rajammal Multipurpose Gymnasium Hall		Auditorium	110 × 210	23100
				Total	50785